“RABA<BOLAXTHEC> No. 1

1. WOBWIZEZ RS0,

(1) 422 — 3z — 3 = 0 DIREIFORRZE M - TRD 7
él/\o

.

(2) 822 432 — 6 =0 DIRERDAREM - TR
Xy,

s

(3) 922 —da — 2 = 0 DIREIFORKE M - TRD 7
él/\o

5

= .

(4) 522 + 8z — 4 =0 DR EIEDOAXEM > TRD 72
AN

%

(5) 322 + 7z — 3 =0 OREIRORREMH > TRD 7
éb\o

(6) 422 + Tz — 7 =0 OREIFORKEMH > TRD 7
él/\o

/S

(7 22 —2—3=0DREMOAREMH > TRDA
él/\o

.

(8) 322 — 2 — 8 =0 DFEEDONRZ - TRDA
él/\o

5

= .

(9) 82% — 8z —1 =0 OfEEMDOAREM > TRD %2
YN

.

(10) 822 + 9z +2 = 0 DR ZIROANXZEfHE > TR
YA




“RABA<BEOAKXTHEC> No. 2

1. WOBWIZEZ RS0,

1) 22 42—-1=0DREMOAREMH > TSRO
él/\o

.

(2) 2%+ 7Tz —6 = 0 DFEAEIRDONRZ > TRD A
AN

s

(3) 52?2 — 32 —2=0 DIREMRDAREMH > TR
él/\o

5

= .

(4) 322 + 8243 = 0 DR EEDAXEM > TRD 72
AN

%

(5) 322 — 22— 1 =0 OREHORREMH > TRD 7
éb\o

6) 2> — 2 —3 = 0 DREMOAREME > TRD A
éb\O

/S

(1) 32% — 2 — 8 =0 DFEMOAREH > TRD A
él/\o

.

(8) 22462+ 2 =0 DEABEDOARNZE > TRD 7
él/\o

5

= .

(9) 822 45z — 3 = 0 DIEE RO A -~ TR
S,

.

(10) 822 +5x —9 =0 DfFEEDOANXEME > TR
X\,




“RABA<BEOAXTHEC> No. 3

1. WOBWIZEZ RS0,

(1) 522 =3z — 2 =0 DIREIRORRZEMH > TRD 7
él/\o

.

(2) 72 + 92 — 2 =0 DREIEDOAXEM > TRD 72
Xy,

s

(3) 222 — Tz — 9 =0 DIREIRORKZEMH > TRD 7
él/\o

5

= .

(4) 22— 92+ 8 =0 DA DARE > TRDHA
AN

%

(5) 22 =T +7 =0 OFEHOANREM-> TR
éb\o

(6) 8z — 8z — 1 =0 DREIFDORKZEM - TRD 7
él/\o

/S

(7) 622 =3z — 7 =0 DREIFORRZMH > TRD
él/\o

.

(8) 322+ Tz — 3 =0 DIRERDAREM > TR
él/\o

5

= .

(9) 32248z —9 = 0 DIREIRDNR A -~ TR
S,

.

(10) 2% + 62 42 = 0 DIREIRDONRX A > TRD A
AN




“RABA<BOLAKXTHEC> No. 4

1. WOBWIZEZ RS0,

(1) 922 + 22 — 2 = 0 DIREIFDOARXZE M - TRD 7
él/\o

.

(2 22—z —4 =0 DBEEBOARXEM > TRD A
X\,

pia

(3) 2 — 4z — 9 = 0 DREMDOARZEE - TR 72
éb\O

5

= .

(4) 522 42z — 8 = 0 DIRE RN A -~ TR
AN

%

(5) 2* —z—3 = 0 DREMOAXEAE > TR 72
éb\ﬂ

(6) 522 — 3z —2 =0 DREIFORKEMH > TRD 7
él/\o

/S

(1) 322 +2—1=0DFEMOAREH > TRD A
él/\o

.

(8) 922 —bx — 2 = 0 DIREFRDAREM - TR 22
él/\o

5

= .

(9) 22 4+4x+ 2 = 0 DA DAL > TRD A
S,

.

(10) 222+ Tz — 3 = 0 DFERDO AR AEE > TRD 72
S,




“RABA<BEOAKXTHEC> No. 5

1. WOBWIZEZ RS0,

(1) 322 — 9245 =0 DIREIFORRZEMH - TRD 7
él/\o

.

(2) 222 + 9243 = 0 DIREEIEDOAREM > TRD 72
Xy,

s

(3) 922 — 52 — 2 =0 DIRERD AR ZME > TR
él/\o

5

= .

(4) 42® + 72 —3 = 0 DREIEDORXEM > TRD 72
AN

%

(5) 522 22 —9 =0 DREIFORKEMH > TRD 7
éb\o

(6) 222 + 8z 41 = 0 DIREIFDORKEM > TRD 7
él/\o

/S

(7) 222 + 52 — 2 = 0 DIREIFORRZEMH > TRD 7
él/\o

.

(8) T2% —8x —3 =0 DIREMDAREM > TR
él/\o

5

= .

9) 22—z —4 =0 DEEREOAXEM > TRD A
S0,

.

(10) 322+ 72 —3 =0 OfFEEOARXEME > TRD A
YA




